Bl e = BIEERT BIESNE (uSv/h)
No. AERRT (#8) m 50cm bem
10 |z )ILE— 1v9)-p 0.10 0.10 0.1
1 En b -Fo 0.1 0.1 0.10
12 | RUFHI % 0.09 0.08 0.08
13 | DEFKGHR % 0.07 0.08 0.07
14 | RYFH] =l 0.09 0.09 0.10
15 /BY&EBO Tz 0.10 0.10 0.10
16 %IR35 B Z 0.10 0.10 0.10

- BIEERT BIEHIE (uSv/h)
No AR (#8) m 50cm 5em
1 |[LisHR % 0.09 0.09 0.09
2 |J5VaRE % 0.10 0.10 0.1
3 |BY&EKRO T2 0.11 0.11 0.11
4 |k % 0.12 0.12 0.12
5 |phigthg % 0.11 0.11 0.10
6 | NUFHI % 0.11 0.11 0.11
1 |{BFrfRHE B Z 0.10 0.10 0.1
8 |Eig % 0.10 0.10 0.09
UEYS b -Fuy 0.10 0.10 0.10
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